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__________________________________________________________________________ 
 

QI. Circle the unit you would use to measure the following.                            (3 Q x 1M = 3M) 

 

1. Length of cloth. 

   a. m                                                    b.km                                               c. cm 

 

2. Distance between Delhi and Mumbai. 

  a. m                                                    b.km                                                c. cm 

 

3. Weight of watermelon. 

  a. g                                                   b. kg                                                  c. Litre 

 

QII. Fill in the blanks.      
                                                                                                                            (5 Q x 1M = 5M) 
1. 1 kg of potatoes = __________ gram of potatoes. 

2. 1 metre  = _______ centimetres 

3. 1 centimetre  = _________millimetres 

4. 1 litre of milk = _______ millilitres 

5.  956 cm = ____m ____cm 

 

QIII. Solve the following.                                                                                  
 

1. Convert the following .                                                                                 (4 Q x 1M = 4M) 

 a. 42 km into m 

 b. 9000 m into Km 

 c. 1 m 11 cm into cm 

d. 8 kg 300g into g 

 

2.  a. 35 g +146 g                                                                                              (4 Q x 1M = 4M) 

     b. 3l 360 ml + 3 l 160 ml 

c. 4500 l  - 2225  ml 

d. 78 m - 46 m 

 

QIV. Word problem.                                                                                  (4 Q x 1M = 4M)  

 

1.                                                                                  
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2. 
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